== A
N & o & AF & H Al A
20218 & =04 LBHSI A oI T & & It
SH: oA
M DEMEXNZ
cel: DR Il CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
oI TH &+ &t 96,794,886 95,190,217 1,604,669
= 43,925,394
J| 542,117
Al 24,718,977
= 27,608,398
WEHEXA 14,285,490 16,245,620 A 1,960, 130
Al 130,000
[ia 14,155,490
w= I & 3,191,842 3,656,098 AN 464,256
Al 130,000
s 3,061,842
Aoy &4 2 WEFSE MY 2,783,476 3,266,098 A 482,622
201 2et24d] 3,000 25,010 222,010
01 At 22l 3,000 5,010 A2,010
ozg=¢ 1,000
—NEYHEFES FAF
100,000& »10E x 13| 1,000
O e8| 2,000
— WS GHHE X &9 WA
2,000,000& 2,000
202 oddl 800 12,800 A 12,000
01 = LH o4 1l 800 800 0
OXMEna 2 DR ALHO
20,0003 x2H 20 800
203 R =&Yl 3,000 3,000 0
03 AI®FXH S =ZH| 3,000 3,000 0
OQUSHE== AMYISFAH 1,500,000 1,500
OQIM&A D AMHRFAH 1,500, 000& 1,500
301 LEHZ 507,276 504,288 2,988
01 A3l EE & 56l 3 507,276 504,288 2,988
OJI&= w=dl XNJ AL 507,276,000& 507,276
307 glz2+ol & 1,401,000 1,851,000 A 450,000
02 QB AAFEX 1,266,000 1,266,000 0
OERSHMME R 24 40,000,000& 40,000
ONEEsL SHANG(HEMUHEY)
215,000,000 215,000
OJNESLBURNELANS (=SS M)
321,000,000 321,000
OJIZFEA2HINHBE 29 500,000, 000& 500,000
OFo st XA 180,000, 000& 180,000
OJI¥u=sssH((0te23sH)XA
10,000, 000& 10,000
05 RIZHRIE 3 135,000 585,000 A 450,000




SN YD
M DEMEXNZ
ol ws Il (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OunsSstn 0 02X wAt XN
135,000, 000& 135,000
308 XX EHSOIA 868,400 870,000 A 1,600
113/ 2S0HUHSBHEAEALS I 868,400 870,000 A 1,600
OJIZ=z dMusdH 2949 178,400, 000& 178,400
O'&80t, g0t sxt' dH=E 29
180,000, 000& 180,000
O2.0.M =& g Z2Hl 293
500,000,000& 500,000
OJIE =22 otztdol 29 10,000, 000& 10,000
SANZBH 2 (HAELE2 J2WSXHH) 258,366 240,000 18,366
Al 130,000
[ia 128,366
09 HES 258,366 240,000 18,366
Al 130,000
[ia 128,366
01 SAL- SHINTES 258,366 240,000 18,366
OZAZelSEH(HAYE S M2
H)IEE=3 258,366,000 258,366
Al 130,000
s 128,366
2 MEotd 523 WsH N 150,000 150,000 0
307 21201 A 150,000 150,000 0
04 QIZFHALAIR B = 150,000 150,000 0
OFT MEHSHE st&25 WK X2
150,000, 000& 150,000
w=sIJ2 HE N 11,093,648 12,589,522 A 1,495,874
stn2d & AEME N2 11,093,648 12,589,522 A 1,495,874
201 L2l 11,800 236,260 A 224,460
01 At 22l 1,800 226,260 A 224,460
o228+ 1,800
~DSFUSZISNANAANE FHLT
100,000& 6 *32 1,800
03 A2 S HI 10,000 10,000 0
OUSLAEHS M 10,000, 000& 10,000
308 XXl I S 0| 11,081,848 12,352,462 1,270,614
08 WEIIZ20HStE = 10,946,047 12,352,462 21,406,415
OstHRaIA Z 2E3 1,452,191,000& 1,452,191
Ogtugal 2=ATHg 2&H X
2,280,000,000& 2,280,000
Oogy = sw 23 X 800,000,000 800,000
Of=2ZA XI& 500,000, 000& 500,000
Osotelgs N3 358,000,000 358,000




SM: TS D
Y DSWEN
ool DS HE X

_ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OITIS: oI 4 XA 330,000,000& 330,000
OstE A2 245 X3 282,000,000& 282,000
OWDE H2I| MEss N
465,000,000& 465,000
Ostn 28 I 120,000,000 120,000
oMU ¢tduEs 89 & 135,000,000 135,000
OZSsD ME(UH)+Y D] 29
98,078,000 98,078
O=sstw otwa X& 30,000,000& 30,000
ORX& g2AH XS 400,000,000& 400,000
OSRX& Htgry] XI& 50,000,000 50,000
OSXd DM - w3H & A2 X
60,000,000 60,000
ORI YUSIY 2AH X
50,000,000 50,000
OJNSE AR (MIN 24, X AD)
23 T2 29 80,070,000& 80,070
OJls=x= DIHXNEH sStE5Etd 25 2 Wil
A OUSIE st ADE JIJI(HX2LIEH)
g2 17,400,000& 17,400
OWnelx nelct2HAAER} 30,000,000 30,000
Omalx #=8 Wl £EQ&D 55,800,000 55,800
OJFE &2 NF T2 29
20,000,000 20,000
OJI&E= s2oz I aAdl 22 21 DI
NERERNH =S D 16,000,000 16,000
OJEZE DSHA He(LEYHT)
16,200,000 16,200
OuWwel =) WHWelAAER 15,000,000 15,000
Ouel Hs2dd NEedH=2 8,740,000& 8,740
OUel= Az A3 T2HE 7,000,000& 7,000
ouel NENE Nss Z22)H
6,000,000& 6,000
Ot &t HE Sslllzsn=s
37,930,000 37,930
Ogdtx JIX EE! 42 BEH X8 &
T2 12,000,000& 12,000
Ogatx 2 DJF Kete g EQEES
im) 31,000,000 31,000
OUE = NAEZ= XNHEES 21 NIE 2=
= W& ol2L QLAAEZS 25,000,000 25,000
OUEx StMSO |IT 21 JIE Ldelxz= UE
2EH DAl 30,000,000 30,000
OR&Ex BH 5 A JRI(2F &2 Dream
Camp) 24,000,000 24,000
O2d S Y A IJRI(EQEISEN
g2 S8 2 91271) 25,920,000 25,920
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SH: oA
M B0t X
t¢elr B - I0tE =X 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 19,920 11,040 8,880
ORSHUIANE EHALY
100,000& »12H x53| 6,000
OESAMY 822 M 6,000, 000& 6,000
OYEERS ALET XY YK
660,000& »12& 7,920
02 2324l 504 6,990 A 6,486
OzgEs 2= g &4
42,000& x12& 504
EFWIHA A8 XA 8,033,508 6,206,172 1,827,336
= 4,820,105
Al 2,249,383
[ 964,020
307 21201 A 8,033,508 6,206,172 1,827,336
= 4,820,105
Al 2,249,383
s 964,020
10 ALSISXAIEEE2GHEX 8,033,508 6,206,172 1,827,336
Oogold EsnXA oA K&
8,033,508, 000& 8,033,508
= 4,820,105
Al 2,249,383
[ia 964,020
N E=E<20 XA 729,600 718,400 11,200
307 glz2t0ol & 729,600 718,400 11,200
11T MISRASEX 729,600 718,400 11,200
O B0 XN&E 729,600,000 729,600
SSWEHIA HRSMLAXNI(SL WA XH) 2,402,022 1,913,961 488,061
= 1,441,213
Al 672,566
[ia 288,243
301 LA F 2,402,022 1,913,961 488,061
= 1,441,213
Al 672,566
[ia 288,243
01 Mel28E 6= 2,402,022 1,913,961 488,061
OYYUA NIAL(AZES MGWA XA
Z8) 2,402,022,000& 2,402,022
= 1,441,213
Al 672,566
s 288,243
PEDHY HRNEXNY (sEESUMN SE22E 1,223,711 1,199,847 23,864
)
= 734,227
Al 342,639
s 146,845




AN AT
HE: 2% 0t X
t¢elr B - I0tE =X 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 1,223,711 1,199,847 23,864
= 734,227
Al 342,639
s 146,845
01 MEI2EZE %06z 1,223,711 1,199,847 23,864
OsSEERUAMN SE2RE 1,223,711,000& 1,223,711
= 734,227
Al 342,639
s 146,845
SRUAYA HRMEXNA (BT WA 2124H] X&) 3,601,189 3,073,689 527,500
= 2,160,713
Al 1,008,333
e 432,143
307 21201 A 3,601,189 3,073,689 527,500
= 2,160,713
Al 1,008,333
i 432,143
10 ALSISXAIEEE2GHEX 3,601,189 3,073,689 527,500
OEXUWA(HEES MDA EE) 2dl X
2 3,601, 189,000& 3,601,189
= 2,160,713
Al 1,008,333
[ia 432,143
QIZtOLE HE0lE WAL MOH&H K& 1,200,000 1,200,000 0
Al 1,200,000
301 LEEAS 1,200,000 1,200,000 0
Al 1,200,000
01 MEIBEZE 053 1,200,000 1,200,000 0
OgZIE HEold WAL MRIHAH
1,200,000, 000& 1,200,000
Al 1,200,000
QIZIIIE EFWA EII25+Y X2 12,000 12,000 0
Al 12,000
301 LEXZ 12,000 12,000 0
Al 12,000
01 MEIBEZE 05z 12,000 12,000 0
OfIZIIE E|uA #JI25+2 &
12,000,000 12,000
Al 12,000
Helold EsUA MM Hl X 582,000 570,000 12,000
301 LEHZ 582,000 570,000 12,000
01 MEI2EZE 6= 582,000 570,000 12,000
ONEold BE|A MRMAEl XI&
582,000,000& 582,000
FUHNdE Heold Esudd =4 X3 15,000 15,000 0




M oIS
M B0t X
el ®R s =X e (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 15,000
301 LEXZ 15,000 15,000 0
Al 15,000
01 MEI2EZE 405z 15,000 15,000 0
OZMWAE OR0E BRIN S4+2245
15,000, 000& 15,000
Al 15,000
ZOUHE R0 HE0IE XS A 2RSE ML 2,400 2,400 0
Al 2,400
301 LEMZ 2,400 2,400 0
Al 2,400
01 MEI2ZE 05z 2,400 2,400 0
OFMHIEROIHE0IE XZ AL 2R3 AH|
2,400,000 2,400
Al 2,400
38 ol X& 648,172 648,172 0
= 388,922
Al 181,475
s 77,775
307 gl2tol & 648,172 648,172 0
= 388,922
Al 181,475
s 77,775
11T M 2XAISE EX 648,172 648,172 0
O33g oegod 234l XNI& 648,172,000 648,172
= 388,922
Al 181,475
s 77,775
S380el0ld X2l& oAl X 43,200 43,200 0
Al 43,200
307 glz2+ol & 43,200 43,200 0
Al 43,200
10 ALSISXAIEEE2GHEX 43,200 43,200 0
O3380eold =l oAyl K&
43,200,000& 43,200
Al 43,200
Helold duergtdl XI& 193,875 187,450 6,425
307 glz2tol & 193,875 187,450 6,425
10 AL SXAIEEE 2 H EX 193,875 187,450 6,425
O0eold detedl X 193,875,000& 193,875
Helold 2EXNA(AHB0E Iy 29l X&) 314,934 372,577 ABT7,643
= 188,960
Al 88,182
s 37,792
307 21201 A 314,934 372,577 ABT7,643




M oIS
B 8% 015 X@
Sel: 25 05 =X el (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 188,960
Al 88,182
= 37,792
11T MISXAS EX 314,934 372,577 A5T7,643
Ooogold =294 N& 314,934,000 314,934
= 188,960
Al 88,182
[ia 37,792
OEold 2 XNA(N0ld DMWY X&) 76,392 78,257 A 1,865
= 45,835
Al 21,390
[ia 9,167
307 21201 A 76,392 78,257 A 1,865
= 45,835
Al 21,390
s 9,167
11 AL SXAEE = 76,392 78,257 A 1,865
ONgold nMuw-d XA 76,392,000 76,392
= 45,835
Al 21,390
e 9,167
Helold WMw2H XA (Fot2l) 135,050 133,600 1,450
307 gl2tol & 135,050 133,600 1,450
11T M SXAISE EX 135,050 133,600 1,450
Odeglold M-8 XA 135,050, 000 135,050
Helold SEXNA(sHELM Hoo2old X&) 11,733 13,460 A1,T727
= 7,040
Al 3,285
i 1,408
307 21201 A 11,733 13,460 NT1,727
= 7,040
Al 3,285
e 1,408
11T MISRAMSER 11,733 13,460 A1, T727
OsHE2LM golaold XI&  11,733,000& 11,733
= 7,040
Al 3,285
s 1,408
Olgold s&dsts & S AH X2 51,650 51,650 0
Al 51,650
307 21201 A 51,650 51,650 0
Al 51,650
11T AL SXAEE =X 51,650 51,650 0
O0eold &sts & St AH X2
51,650,000 51,650
Al 51,650




SN YD
M B8 -0t &
Sel: B8 -0t =X 22 (S &2)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OBl 0lE ZcelA=2 MUlA XI& 650 650 0
Al 650
307 2Iztol ™ 650 650 0
Al 650
11T ALS S RAEE = 650 650 0
OO0 E0lE Zela3 HMbla K&
650,000 650
Al 650
d2EXNJ00E HeEF2dH X 600 600 0
Al 600
307 21201 A 600 600 0
Al 600
TASISXIAIE E & 600 600 0
ANAHS0IE HH29H A&
600,000& 600
Al 600
AMZHESMHME A HSXR 507,760 287,828 219,932
= 253,880
Al 126,940
i 126,940
307 21201 A 507,760 287,828 219,932
= 253,880
Al 126,940
[ia 126,940
11 AMSSIAIEE S 507,760 287,828 219,932
OANZINEEE XA (M) 60,000,000& 60,000
= 30,000
Al 15,000
e 15,000
OAMZHES 2948 XA 447,760,000 447,760
= 223,880
Al 111,940
[ia 111,940
Helolddgs 2Rus N& 3,000 3,000 0
307 21201 A 3,000 3,000 0
11 A S XA E X 3,000 3,000 0
Ooglolddgs 22u=s A& 3,000,000 3,000
SO0ISEXNEHYH 23 761,893 761,893 0
307 gl2tol & 761,893 761,893 0
05 BIZERI & 3 761,893 761,893 0
O=S0ISEXNJHH 22 761,893,000 761,893
365 XENHE0IE 22 125,530 120,000 5,530
307 glz2tol & 125,530 120,000 5,530




M QA Dt
Hu: 8% 015 X8
o2l B -0t 51 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
10 AL SXNAIEEE2EH EX 125,530 120,000 5,530
O0elold 298 ¢ o2yl XN&
62,765,000 *20H 2 125,530
01201y S2HAHl X2 1,000,000 1,000,000 0
301 LEMZ 1,000,000 1,000,000 0
01 MI2ZE 6= 1,000,000 1,000,000 0
Ongold S2tAl NI 1,000,000, 000& 1,000,000
s XA 4,690,103 5,196,472 A 506,369
= 3,517,577
Al 820,768
e 351,758
301 LBEAZ 4,690,103 5,196,472 A 506,369
= 3,517,577
Al 820,768
s 351,758
01 MEIBEE 2063 4,690,103 5,196,472 A 506,369
oitgg=s=¢g & 4,690, 103,000& 4,690,103
= 3,517,577
Al 820,768
s 351,758
gdeoEszs XA 23,930,768 23,323,007 607,761
= 17,948,076
Al 4,187,884
s 1,794,808
301 LA F 23,930,768 23,323,007 607,761
= 17,948,076
Al 4,187,884
s 1,794,808
01 MI28E +06l= 23,930,768 23,323,007 607,761
OgxrotE2sz XA 23,930,768,000& 23,930,768
= 17,948,076
Al 4,187,884
i 1,794,808
FoltE K& 8,012,982 8,012,982 0
Al 8,012,982
301 LEMZ 8,012,982 8,012,982 0
Al 8,012,982
01 MEIBEZE+6l= 8,012,982 8,012,982 0
OBg3~5AI0t =eltd XI& 8,012,982,000& 8,012,982
Al 8,012,982
22 2ULIHEH 2¢ 10,820 10,820 0
= 5,410
Al 2,705
i 2,705
301 LeEBA S 10,820 10,820 0




2N
X ZH -
L= B

el

02
0x

N B

&
SX 2el

HL HI e
Ho s =

g

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 5,410
Al 2,705
= 2,705
12 JIE2d =3 10,820 10,820 0
OO0t0lA e 222LHEH 29 10,820,000& 10,820
= 5,410
Al 2,705
[ia 2,705
FEXNIFANHE0E BEFUAN SX+E 23,400 23,400 0
Al 23,400
301 LA F 23,400 23,400 0
Al 23,400
01 AR 2Z A5l 3 23,400 23,400 0
OZRXNANBO0E ESA 22X
23,400,000 23,400
Al 23,400
FR0XNIAHS0IE =& elAd XA 309,000 309,000 0
Al 309,000
307 21201 A 309,000 309,000 0
Al 309,000
11T MISRASEEX 309,000 309,000 0
OHR0XNEH0lE Zeld 2¢Hdl X3
309,000, 000& 309,000
Al 309,000
Helold HHAHE X& 3,960 0 3,960
307 glz2tol & 3,960 0 3,960
11T M SXASEX 3,960 0 3,960
oogold ooHE N& 3,960,000 3,960
ANLYSOIEENALHS S 28,000 30,000 A 2,000
= 14,000
Al 14,000
307 21201 A 28,000 30,000 A 2,000
= 14,000
Al 14,000
05 RIZt2IEt = 28,000 30,000 A 2,000
OXNY=0IESXNJAUEH 29 28,000,000& 28,000
= 14,000
Al 14,000
ooy gstEdl=s N&E 300,000 300,000 0
301 82X = 300,000 300,000 0
01 MI2EZE +06l= 300,000 300,000 0
ONgold M st=EHIZ K&
300,000,000 300,000
OO 2020l & XtEIIAF 21 H4Hl XI& 3,600 0 3,600




FA:
x| XH -
L= B

el

H KT re

02
0x

B[ =t

&
=X

H s =
2

2tel

A B3 e2(3) - AR

ESS

Off &t 24

=

i
2m

Al

3,600

307 21201 A

Al

3,600
3,600

3,600

A S XA E X

OZOHOIE 20201 E RESIIAL

elAdl K&
3,600,000

Al

3,600

3,600
3,600

3,600

20X 0E

2 =0t01 &t

12

=
ol

=2 X

0

Al

1,382,860
1,382,860

1,382,860

Al

1,382,860
1,382,860

1,382,860

Al

1,382,860

1,382,860
1,382,860

1,382,860

Al

M

434,833

217,417
217,416

434,833

401 AIEHIZ 2 I

H =

434,833

217,417
217,416

434,833

01 A€ dl
oogoly Delel2ad

434,833,000

Al

M

434,833
434,833

217,417
217,416

434,833

Ao

21012

H = Al
= & 2E4

IR K&

H= 41

18,900
9,450
4,725
4,725

18,900

307 21201 A

M=

18,900
9,450
4,725
4,725

18,900

A S XA E =

ONe oy E&4

IR K& AR

18,900, 000&

= W

18,900

18,900
9,450
4,725
4,725

18,900

O

0z
b
i
It
pal
Mo
02

=Y H

21,535,363
12,389,986
542,117
3,589,943
5,013,317

20,792,547

742,816

It

04

S8 ts=X ML =T

H

15,329,069
11,610,872

15,226,621

102,448




2N
X ZH -
L= B

el

oI TH & ot
Ol - #2248 EX 2<
IHESY 0SS X MHIA =2

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Pl 93,038
Al 2,533,082
= 1,092,077
ols+% XA 14,356,000 14,278,635 77,365
= 11,484,800
Al 2,009,840
= 861,360
301 et A= 14,356,000 14,278,635 77,365
2 11,484,800
Al 2,009,840
= 861,360
01 Al B & A 462 14,356,000 14,278,635 77,365
Oools4+4Y XN 14,356,000,000& 14,356,000
=2 11,484,800
Al 2,009,840
= 861,360
Ols 4% AMY=ZX 2AH| 3,152 3,417 A\ 265
2 2,206
Al 946
201 et 3,152 3,417 A\ 265
= 2,206
Al 946
01 AR 22l ] 1,000 1,000 0]
O0ls4Y AMEFE 29| 1,000, 0008 1,000
= 700
Al 300
02 2224 H| 2,152 2,417 A\ 265
O0ls4Y =& 28 22232 2,152,000 2,152
= 1,506
Al 646
N8 AE LS XS 48,600 48,600 0
Al 48,600
301 et M= 48,600 48,600 0
Al 48,600
01 Al B & A 462 48,600 48,600 0
Otdfigsds+< N 48,600,000 48,600
Al 48,600
IIEEOIE & NHEFEHZ XA 15,000 15,000 0
Al 15,000
301 et M= 15,000 15,000 0
Al 15,000
01 Al E&E A 2523 15,000 15,000 0
OJIEe0ls s ANMEgds=z2 N
15,000,000& 15,000
Al 15,000
IFSIS0IE S HES=3 N 14,000 14,000 0




SM: TS D
MY Ol - BAUW =X 29
S9l JIHEL OISEX AHIA =

- _ _ RE]
SN ED B (3H) - MEAY - BAS ol &k o8 %Ei
Al 14,000
301 et A= 14,000 14,000
Al 14,000
01 Al B & A 462 14,000 14,000
OJIdE0s & Ustss2 N
14,000,000 14,000
Al 14,000
Bs3s0ls Mg XN 18,000 18,000
= 14,400
Al 3,600
301 et A= 18,000 18,000
= 14,400
Al 3,600
01 Al E & A 462 18,000 18,000
OBsS=Z=20ts g 18,000,000 18,000
= 14,400
Al 3,600
OS2SR AHT 153,880 153,880
= 107,716
Al 46,164
301 et A =2 153,880 153,880
= 107,716
Al 46,164
01 Al B & A 46 2 153,880 153, 880
Ootse X HX X 153,880,000 153,880
= 107,716
Al 46,164
ANIES IS X (YA0tEs =4+ IH) 118,800 118,800
J| 83,160
Al 35,640
301 et M= 118,800 118,800
J| 83,160
Al 35,640
01 Al E& A 262 118,800 118,800
OgAotsss4d N 118,800,000 118,800
J| 83,160
Al 35,640
QA0S JI=E X (Y= 2t 210 XH) 2,100 2,100
J| 1,470
Al 630
301 et A= 2,100 2,100
J| 1,470
Al 630
01 Al E & A 462 2,100 2,100
O =g{d|I2t 2ANAH 2,100,000 2,100
J| 1,470




SM: TS D
Ha: Ol - AW =X 29

S o

el DS OSSR MHlA =

S HB B (SH) - NRAMY - BAS O 4t o8 il
| Al 630
Qokols JIE X (2 HE ) 5,400 5,400
Dl 3,780
Al 1,620
301 et M= 5,400 5,400
J| 3,780
Al 1,620
01 M BEEE2G2 5,400 5,400
O 26 HEXH 5,400,000 5,400
Dl 3,780
Al 1,620
QekOls JIE X (BHoISY AU 4=CH) 6,612 6,612
Jl 4,628
Al 1,984
301 LEtE M= 6,612 6,612
Dl 4,628
Al 1,984
01 MSIEEE G2 6,612 6,612
OAdots IIFXNA(HolSLYLAISE)
6,612,000& 6,612
Dl 4,628
Al 1,984
il =52 A& 3,000 3,000
Al 3,000
301 et M= 3,000 3,000
Al 3,000
01 MBI EEAE G2 3,000 3,000
glel =52 XN 3,000,000& 3,000
Al 3,000
ek JIMEOIsS delxls N 2,500 2,500
= 1,750
Al 750
301 dEtE X = 2,500 2,500
= 1,750
Al 750
01 Ml EXEE 452 2,500 2,500
Oy - JHEeE Melxlzg K& 2,500,000& 2,500
= 1,750
Al 750
E.3520s348 N 84,045 84,045
Al 84,045
301 Bt ™M= 84,045 84,045
Al 84,045
01 MIIBEEE2G2 84,045 84,045
OE , 25 Ots24 X 84 ,045,000& 84,045




SM: TS D
MY Ol - BAUW =X 29

&S DHESH ots=X MUl A =0 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| Al 84,045
E-SHELS3A N (FIt=4l) 19,590 22,822 A3,232
301 LEM = 19,590 22,822 A3,232
01 MI2ZE 6= 19,590 22,822 A3,232
OE, 2584 ots=4 XA (FIt=4l)
19,590, 000& 19,590
2o g8t =E otssS4A KHE 356,350 356,350 0
Al 267,263
[ia 89,087
301 LA F 356,350 356,350 0
Al 267,263
i 89,087
01 Ml28HE 6= 356,350 356,350 0
Oo&g gdsts Ots=s4 A& 356,350,000 356,350
Al 267,263
i 89,087
g gats ots3 4 X2 (FIt24l) 122,040 93,460 28,580
301 LBEXZ 122,040 93,460 28,580
01 MEIBEZE+6l= 122,040 93,460 28,580
OEY &&= ots=4 N (FIH=2Hl)
122,040,000& 122,040
NS Atel Ots=X MEIA XT& 1,737,965 1,042,809 695, 156
= 495,143
J| 34,500
Al 622,340
s 585,982
SsdEIIE Es0ts X& 16,000 16,000 0
Al 16,000
307 gl2tol & 16,000 16,000 0
Al 16,000
11T ALS S XAEE = 16,000 16,000 0
O=sdalld 250ts A& 16,000, 000& 16,000
Al 16,000
RES0ls dE8 22 86,250 86,250 0
J| 34,500
Al 51,750
307 glz2tol & 86,250 86,250 0
J| 34,500
Al 51,750
11T MISXASEX 86,250 86,250 0
Oots88 249 XN& 86,250,000 86,250
J| 34,500
Al 51,750
Ots1Es EMA SR=Y XA 6,600 6,600 0




2N
X ZH -
L= B

el

oI TH & ot
Ol - #2248 EX 2<

KSAE OtsS X MHIA XT&

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 6,600
307 glz2tol & 6,600 6,600 0
Al 6,600
11T M SXAISE EX 6,600 6,600 0
Ots1EE BEAA 2X= XA
6,600,000 6,600
Al 6,600
Ots088 SAMA SXNEAE K& 300 0 300
Al 300
307 gl2tol & 300 0 300
Al 300
11T M SRAISE EX 300 0 300
OOts1EE AR SXNEUE K&
300,000& 300
Al 300
SSMEILE et aeldl XI& 1,000 1,000 0
Al 1,000
307 21201 A 1,000 1,000 0
Al 1,000
11T ASI S RAEE = 1,000 1,000 0
SSMEItE otAdateldl X 1,000,000 1,000
Al 1,000
OtsStHEAL S33HALE 10,924 0 10,924
201 LB-2dH| 9,524 0 9,524
01 At 2t 2l 7,920 0 7,920
OOtsSHEA HEFX Xt A X
660,000& »12& 7,920
02 2322l 1,604 0 1,604
OOtSsStHEAL HE=A e SHH|
42,0003 123 504
OtssttHg S olsdst s4ldl 1,100,000 1,100
307 21201 A 1,000 0 1,000
01 2L 72| 1,000 0 1,000
Oeiuoiots =28 =Hl 1,000, 000& 1,000
405 XHoHF S HI 400 0 400
01 HatH ESFH S 400 0 400
Og®0LE JIANE P2 400,000& 400
CHEtH S AP (&8I 70,000 0 70,000
= 45,000
Al 25,000
401 A& HIZ 201 I 50,000 0 50,000
= 25,000
Al 25,000




SM: TS D
MY Ol - BAUW =X 29

&2 XFAS ots=X MHlA K& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 50,000 0 50,000
OUEMN=sHEH AXIH 50,000,000 10 & 50,000
= 25,000
Al 25,000
405 TtobF S| 20,000 0 20,000
= 20,000
01 et EFH S 20,000 0 20,000
OUEH=SHEH Il X
20,000,000 104 2 20,000
= 20,000
CIEtH =8 A (r24dl) 52,560 0 52,560
= 26,280
Al 26,280
307 21201 A 52,560 0 52,560
= 26,280
Al 26,280
05 RIZt2IEt = 52,560 0 52,560
OUEHN=SsSHH et X3
4,380,000 122 « 100 & 52,560
= 26,280
Al 26,280
CIEtH =5 MY (29dl) 3,600 0 3,600
= 1,800
Al 1,800
307 glz2+ol & 3,600 0 3,600
= 1,800
Al 1,800
05 RIZte &= 3,600 0 3,600
OUEgN=SsSHH 22 XA
300,000 =128 =104 & 3,600
= 1,800
Al 1,800
CHEEH &= AP (F01=2l) 2,600 0 2,600
201 L4l 2,600 0 2,600
01 At 22l 2,600 0 2,600
OUEN =8 dH A 28 284l &
500,000 *2H 2~ 1,000
OUEgNEsSHH 2223 22 &g
100,000& »8H 23| 1,600
NEotsdle 298 K& 641,280 599,880 41,400
= 320,640
Al 288,576
s 32,064
307 glz2tol & 641,280 599,880 41,400
= 320,640
Al 288,576




SM: TS D
MY Ol - BAUW =X 29

&2 XFAS ots=X MHlA K& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 32,064
11T MISXASEX 641,280 599,880 41,400
OXgotsdyd 29 X 641,280,000 641,280
= 320,640
Al 288,576
[ia 32,064
OtS=XI WAt OtA 128,848 128,848 0
2 64,424
Al 64,424
101 @124l 128,848 128,848 0
2 64,424
Al 64,424
03 RIAHAZZRHE > 25,644 25,644 0
OXGAZEXNAHSRE) S0 (1Y) 25,644
—Jles 1,823,000 «1H «12& 21,876
= 10,938
Al 10,938
—EXAE=s & 3,768,000 3,768
= 1,884
Al 1,884
04 DIt Z2XREE S 103,204 103,204 0
Oo0ts=RXA XI& 103,204
— QRO (MY FE5AI2H)
1,143,000 «5H «12& 68,580
= 34,290
Al 34,290
— QIR A (I F12A12H)
615,000 x3H «12& 22,140
= 11,070
Al 11,070
—ARE JIBRYE U dNNYS
12,484,000& 12,484
= 6,242
Al 6,242
OrS=E X WA THA (F=oH24l) 24,074 16,404 7,670
101 o124 B 24,074 16,404 7,670
03 RIAHAZZ2THE = 16,084 11,904 4,180
OXNIAMSEXNAHSRA) HMLH S 12,362
—Jigs FItZHl 414,850 x1H «12& 4,979
—G9EFIHHl (231 2) 1,790,280 *1H 1,791
—dNUNHB 1,054,300 « 1 x13] 1,055
— ZAg A 130,000& «1H 128 1,560
—JIE=E 1,200
bH < Xt 40,000& x1H » 128 480
S M AHE (2H19AI 01 2H)

60,000& x1H 128 720




SM: TS D
MY Ol - BAUW =X 29

e XNGAs Ot =S X MHlA K& (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
— &M syl X2 300,000& x1H x13] 300
— IR sEsIIx=E 1,476,420& x1H 1,477
Oo&2 WEeHdl 362,000 362
OB JI2YP +30fH|
20,000& x 18«14 x12& 3,360
04 JIZtHIZ22XNSE S 7,990 4,500 3,490
OOsS=S X WAAIE JI2tH 22 X HLIH& | 7,990
—SXNZEAE(MY F25AI2F WA
300,000& x5 13| 1,500
—HEAMHS(EY F25A12F WAL
300,000 x5H x23| 3,000
— DB Ak 698,000 x5 3,490
ELS2NY XY90tsSHEH F=OHAH 29,232 29,232 0
2 14,616
Al 14,616
307 2iz2to| A 29,232 29,232 0
= 14,616
Al 14,616
11T A EXAIEEX 29,232 29,232 0
OEsE NdY90tsdye 29 N
29,232,000 29,232
= 14,616
Al 14,616
KNEOtsSHE Z2II#ED| N (EX) 3,994 0 3,994
2 1,997
Al 1,997
307 2iz2tol & 3,994 0 3,994
2 1,997
Al 1,997
11T AISIEXAIEEX 3,994 0 3,994
OX<otsHdyH ZI2E)| 2dXs XA
332,800& x12& 3,994
= 1,997
Al 1,997
EL2Y9 XNY90tsHE F=OHX&A 10,944 10,944 0
= 5,472
Al 5,472
307 Q12+0| & 10,944 10,944 0
= 5,472
Al 5,472
11T AISIEXAIEEX 10,944 10,944 0
OX<Y0tsHdH EQ2Y XN 10,944,000 10,944
= 5,472
Al 5,472
LLEXNY90otsHE XS 19,828 19,828 0

W

9,914




2N

X{ XH -
S =

oI TH & ot
Ol - #2248 EX 2<

S XM Ols=X AHlA XT3 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Al 9,914
307 QI2t0| ™ 19,828 19,828 0
= 9,914
Al 9,914
11 AMISAAEE X 19,828 19,828 0
O£ XNdotsHEH X 19,828,000& 19,828
= 9,914
Al 9,914
XNEotsHE sFsdl XI& 10,000 10,000 0
= 5,000
Al 2,500
iy 2,500
307 212t0| & 10,000 10,000 0
= 5,000
Al 2,500
iy 2,500
11 A SEXNAIEE X 10,000 10,000 0
OXNGotsHEH StFMA K& 10,000,000& 10,000
= 5,000
Al 2,500
= 2,500
XNEOotsSHE SAN AR2MEH K& 39,600 39,600 0
Al 39,600
307 Q12t0| ™ 39,600 39,600 0
Al 39,600
11 AMIASXAEE X 39,600 39,600 0
OXNSOtsHEH SAXN HLIMAEH XIS
39,600, 000& 39,600
Al 39,600
NEOtSHE SAIA EXZE X 2,000 0 2,000
Al 2,000
307 212t0| & 2,000 0 2,000
Al 2,000
11T A SEXAIEEX 2,000 0 2,000
OXNGAOtsSHEH SAA EXNEZAE XA
100,000& *20H 2,000
Al 2,000
o228 E XYG0olsdE K& 39,000 39,000 0
Al 39,000
307 212t0| & 39,000 39,000 0
Al 39,000
11 A EXNAEE X 39,000 39,000 0
OOAESHEE XH0tsHEH K&
39,000,000 39,000
Al 39,000




2N
X ZH -
L= B

el

oI TH & ot
Ol - #2248 EX 2<

KSAE OtsS X MHIA XT&

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
NGotsdy T2 N& 19,740 19,740 0
Al 19,740
307 21201 & 19,740 19,740 0
Al 19,740
11 AFBI = XA 2 = 19,740 19,740 0
OXHOISME TRl X 19,740,008 19,740
Al 19,740
ANSotsSdE Hted K& 3,132 2,844 288
Al 3,132
307 21201 A 3,132 2,844 288
Al 3,132
11T MIZSXASEEX 3,132 2,844 288
OXdotsdE HLterdl K&
348,000& 90K & 3,132
Al 3,132
ASG0otsdH SHAdXE 2EH| 2,639 2,639 0
Al 2,639
201 ¢4l 2,639 2,639 0
Al 2,639
02 =224l 2,639 2,639 0
OXdotsHE sA48NIE 2HH X
2,639,000 2,639
Al 2,639
ANEotsde 2stdEdl X& 11,000 11,000 0
307 21201 & 11,000 11,000 0
11T M SRAISE EX 11,000 11,000 0
OXSotsdH 2atMEH XI& 11,000,000& 11,000
NHAOISHME HBHA X 3,000 3,000 0
307 21201 A 3,000 3,000 0
11T M Z2XASE EX 3,000 3,000 0
OXdotsdE HeAL A& 3,000,000 3,000
SAZeBE 2SO sE04) 499,820 0 499,820
309 =S 499,820 0 499,820
01 SAt- SHINEES 499,820 0 499,820
O<=E I8 ssud g2 HEdd
499,820,000 499,820
Ots - a4 B4 £ 2313 4,468,329 4,523,117 A 54,788
= 283,971
J| 414,579
Al 434,521
= 3,335,258
Fad 4 g2 22 184,800 183,630 1,170
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2N
X ZH -
L= B

el

Ol H 2 & It
OS - BaE =X
s - g2 2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Fad IR 24 42,000 42,000 0
Al 21,000
s 21,000
307 gl2tol & 42,000 42,000 0
Al 21,000
s 21,000
11T AIS S RAEE = 42,000 42,000 0
OF3AEZRY 29 42,000,000& 42,000
Al 21,000
= 21,000
Fad EEXE 10,130 11,000 AB70
J| 7,091
Al 3,039
301 LBEAZ 10,130 10,740 A610
J| 7,091
Al 3,039
01 MEIBEE 2053 10,130 10,740 A610
OSgXas 348 XA 10,130,000& 10,130
J| 7,091
Al 3,039
=PSEREEIDE! 62,240 55,572 6.668
= 31,120
Al 15,560
[ia 15,560
301 LeHEBAF 62,240 55,572 6,668
= 31,120
Al 15,560
[ia 15,560
01 Mel28E+dl= 62,240 55,572 6,668
OdEad 2AAYU=SS A0HIS X2
62,240,000 62,240
= 31,120
Al 15,560
[ia 15,560
Fad g0tZ 0of2t0iol 22 338,184 340,444 A 2,260
J| 169,092
Al 169,092
307 21201 A 338,184 340,444 A 2,260
J| 169,092
Al 169,092
11T AL SXAEE = 338,184 340,444 A 2,260
OFag&u=0t2ta 0l XN& 338,184,000 338,184
J| 169,092
Al 169,092
HAE 2SS OotItO Ol 2L (FIt2Hl) 40,000 40,000 0
307 glz2tol & 40,000 40,000 0




SA: ol

e o

M Ots - EAE SR 29
el OlE - HAW 5S4 Q BENW CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 40,000 40,000 0
OFAELWUSOItAI0l X (FIt=4l)
40,000,000& 40,000
STWEHIZE A 29 341,838 328,227 13,611
101 @14 Hl 341,838 328,227 13,611
04 JIZHHZ2XNHEE S 341,838 328,227 13,611
OdlclatgA & staotd™ate| 2t B Xl XI& 341,838
— =Ry 80,3443 «17H +2152 293,658
—&MHEE 293,658,000& *1.03% 3,025
—1E2E 293,658,000 *1.65% 4,846
— J0H=EH 293,658,000& *4.5% 13,215
—3UAHLBE 293,658,000 *3.335% 9,794
— LRI RAEEE 9,794,000& *10.25% 1,004
—H2EE FIAS(FZI2A 2nH)
6,095,452& 6,096
—SNEUE 300,000& x17H *13] 5,100
—ZEN0E 300,000& x17H *13] 5,100
HadE XS A XX & 27,216 25,740 1,476
J| 13,608
Al 13,608
307 21201 A 27,216 25,740 1,476
J| 13,608
Al 13,608
11T ALS S XAEE = 27,216 25,740 1,476
OFAEFHAE FAEXZA HIX
27,216,000 27,216
Jl| 13,608
Al 13,608
ANEdAE 02 22 4,000 4,000 0
J| 2,000
Al 2,000
307 21201 A 4,000 4,000 0
J| 2,000
Al 2,000
11T AL SXAEE X 4,000 4,000 0
OFAESHAE 233 29
4,000,000 4,000
J| 2,000
Al 2,000
stust a4 X 131,513 89,236 42,277
J| 92,059
Al 19,727
s 19,727
307 21201 A 131,513 89,236 42,277
J| 92,059




SH: QTHA

M Ols - HadW =27 29
o9l Ol - AW B584 2 2SN (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 19,727
s 19,727
11 ASI S XA E X 131,513 89,236 42,277
Ostu 2 FA449 XA 131,513,000& 131,513
J| 92,059
Al 19,727
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